Howmep 3ananus

OTtBeT

Kpurepun onieHnBanus

1 3D-neuatp 3 bama
2 (30000 x 100) / (100-30) = 42857,15 py0. 3 Gauta
3 A 3 Gamna
4 l-a, 1, x, u; 2-0, B, 1, 3 3 fata
5 MHUKPOBOJTHOBAS T1€Yb 3 Gamta
6 A 4 Gamna
7 b 4 Ganna
8 A 4 Gamna
9 b 4 Gamna
10 b,B 4 Ganna
11 A 4 Gamna
12 b 4 Gamna
13 A 4 Ganna
14 A 4 Gamna
15 A 4 Gamna
16 A B, T 4 dayuta
17 Yepsb 4 6amna
18 A 4 Gamna
19 20 4 Gamna
20 213 4 Gamna
21 1)«Ha nnanere ManeHbpKOT0 MpUHIIA 15 GamnoB
BCET/Ia POCIH MPOCTHIE, CKPOMHBIE
1[BETHD»
2) Tabnuna 3x3 Buga: npumep 5 OamioB
i 1T y
u s B
c e r
5 6ansoB

3) CnoBo u ero mudp




